
CHM151 Qulr#2t 25Pts Fall2004 Name:

M :  lo6,  k :  103, c:  lo-2,m: 1o-3,  2.54 cm-_�  1

Show All Work to Receive Credit.

in,12 in: I ft, 5280 ft: I mile

followiPts he llo
Element or ion name Element or

ion symbol
Number of
Protons

Number of
Electrons

Number of
Neutrons
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A sodium-23 cation TNJ l t l 0 I L
An iodine-127 anion t r /  - r
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2. (6 fts) Determine which ELEMENT OR ION in each pair has a larger volume and EXPLAIN YOUR
REASONING.
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a. KorK* ? Larger K Reason: ,k 
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5. (2 Pts) Give the name and symbol for:

J--l-. \- I
c .SorTe?  La rge r  /e  Reason :  l e  nA \ (wrov--e g Lrz'i:'Lo ,

3. (5 fts) What volume of bromine (density :2.928 glnL at 20'C) is needed to provide 27.5 grams of
bromine? , ,

. L1  ,5 , , r - |= . f? - -_ . - " -  =  1_Z1  a  r y "L
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4. (3 fts) Describe what would happen on the electronic level in a chemical reaction between a metal and a non-
meta l f ienv.p ln l  u , , l l  Lo lu  

'E '  i i )  k  #"  v" t *  nr f4 f .

A metal A non metal

6. (1 Pt) How many inches are there in 48 centi milli inches?
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CHM151 Qun#Zb 25Pts Fatl2004 Name:

M: 106, k:103, c:10-2,m: 10-3,  2.54 cm: t  h,  12tn:1 f t ,5280 f t :  t  mite

Show All Work to Receive Credit.

8 Pts Comolete the tol.lowrns table:
Element or ion name Element or

ion symbol
Number of
Protons

Number of
Electrons

Number of
Neutrons

l h ,S  p Io ro r , . , g P-31 / 5 l s l 6
Iron-56 , r  r -

. ,  F e
. l - '  \ - C^- b 4 - \ 9 3 C

A potassium-40 cation ir'K r i ?
d i

t \
i V
I :*i L I

An iodine-I29 allr.on tr.? T 
-

( 2 +
,h 

*")
'" tl (u i11-  83 ' -  76

l. (6 fts) Determine which ELEMENT OR ION in eachpair has a larger volume and EXPLAIN YOUR
REASONING.
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c. Po or Te? Larger P,
3. (5 Pts) What volume of bromine (density :2.928 glnL at 20"C) is needed to provide 58.5 grams of
bromine? -5.*l ftl^;=- : l1,l v ry-,._L
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a. (3 Pts) Describe what would happen on the electronic level in a chemical reaction between a metal and a non-
m e t a l '  - r 1  - . s t ( \  u r r I l c l  / r , s . ' € * q ] ,  / a  { f ' *  ; 1 u ' n * f n c 1 , ^ ( ,l { N e  I \

5. (2 fts) Give the name and symbol for:

Anon-metai_ A metal
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6.( lPt)  Howmanyfeetaretherein48cent imi l l i inche",  TgXto-L Xto4hl  tF l .  = 1X/u-St+
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